[T

===

NOSTALGIC

WAREHOUSE

Installation Instructions
For Pre-Attached Rosettes & Short Plates

Passage and Privacy
With step-by-step Installation Pictograms & Drilling Template

Applies to:
¢ Classic and Rope Rosettes
e Cottage and Studio Short Plates

Tools Required: #2 Phillips Screwdriver (Not power tools)

Door Handing - Rosettes and Short Plates

Door handing is critical for Split-Finish, or Split-Design products. It’s also used to determine where
the Interior and Exterior halves of the lockset are located on the door. And, it’s used to position the
latch tongue in relation to the strike plate.

Inside of Door - The Inside of a door refers to the side of the door that faces the room. For example,
for a bedroom door on a hallway, the Inside of the door would face the bedroom.

Outside of Door - The Outside of a door refers to the side of the door that faces away from the room.
The Outside of a door is generally more visible to visitors, and therefore a rosette on this side of the
door has no visible screws. For example, on a bedroom door, the Outside would face the hallway.

DOORS OPENING INWARD

DOORS OPENING OUTWARD

To identify door handing,

face door from the Outside. To identify door handing,

face door from the Outside.

outside

outside outside outside

Hinge is on the left. Hinge is on the right.

. i Hinge is on the left. Hinge is on the right.
Door is Left Hand. Door is Right Hand. Door is Left Hand. Door is Right Hand.
INSTALLATION RULES:

1) Lockset machine mounting screws are inserted from the inside.

2) Privacy pin holes are next to the door side containing the latch.

3) Latch tongues have a beveled side, and this side should contact
the curved end of the face plate, and curved end of the strike plate.
(See *Latch Tongue Note on page 3.)

Page 1 - PK177 02162021



12029120 £LTMd - T 98ed

(S100pP 2143, 17/€-1)
ale|d IS Koy| asesjay SM3IDS sulyde t7/€-1
Aouabiswg Adenag 10 ‘(s100p }DIY3,8/€-1)
SMaIDS aulydeN ,¢/L-1

anbuo] yojeT a|puids

uld Aoeaud

(3]0H uid-A>eAlld papealyl)
wisiueyda|N bunpo

9|OH uld
Koeaud

SM312S POOAN
PesH 1el4,v/¢

1953207
O J|eH 10L19)u
\ yporg JO JjeH JouB3u]

uoleIoY-HuY

9|OH 9s5e3|9Yy
Aouabiswz

395007

Aeid 2B00g) o S
JO jjeH 101193x3 4 ._.._ _m oo
E_m

mco:us.;mc_
as peojumoq €& INI938 NOA 340438

f>ennd/abessed saie|d HOYS/o11950Y paydeny-aid 10} buimeaq papojdxy



Installation Instructions [
For Pre-Attached

1-3/8” to 1-3/4” thic

Fits doors

Rosettes and Short Plates

For 2-3/8”
Backset: |<2-3/8">
Cross Bore
Backset go1l>38;
Information /7‘% Diameter
For 2-3/4"
Backset: |<—2-3/4—

. Install
NOTE: Latch
DRILLING Arrow
TEMPLATES
ON P
SEPARATE ff%:)/

@ Install anti- rg N
lNCLU DED rotation block. \;
SHEET tho atow's

pointing to
the edge of
the door.

Tools Required: #2 Phillips Screwdriver (Not power tools)

(Anti-Rotation
Block)

k] Passage/Privacy

£e

oM

=

Door - Inside

@ Install latch and rotate
the latch tongue %
to change handing.
(See page 1 for handing)

@ Install faceplate with
3/4" wood screws.

Y0 "~
N

¥ See Latch Tongue
Note in next panel

* Latch Tongue Note

Bevel side of latch tongue should
contact curved end of face plate,
and curved end of strike plate.

Bevel Side

Face Plate Curve

Q 0
{0

Strike Plate Curve

Threaded
privacy hub
goes on the
inside of the
door.

Insert
Spindle

@ Push spindle button
down and hold during
insertion

Spindle

@ Insert

Door - Inside

D,

Install
Exterior
Half of
Lockset

Door - Inside

Emergency
Release Hole
(Privacy Only)

e Install Interior Half
of Lockset

G Install Privacy Pin

Door
Jamb

Install interior half of lockset
with 1-1/2" machine screws
(1-3/8" thick doors), or 1-3/4"
machine screws (1-3/4" thick
doors)

Door - Inside

Door - Inside

Screw in the
Privacy Pin
(Privacy Only)

Attach the strike plate to the door jamb
using 3/4" long wood screws.

Page 3 - PK177 02162021



H

40014 WOH4.8¢€ OL.9¢
ATALVINIXOdddV 3T0H
d04 ANITY3INTD 31VOOT1

A
/

| | :@\MlN

ONITTIHA 340439 13SHOVI AdIHIA V7€ I
INV.LHOdWI 139V o | L
o8| - -
@)
ol
=
o 1]
gL
| 1 () | \\ /
Y _ _ _ _ mj 1) _ _ lr_.L | Bbhp— L
L\ w \ :
13SMDVE 3LYI4dO¥ddY Z RN
dH1L NO d3d31NdD 1109dav3id Q ] |7
404 ¥0OA HONOYHL Lo o
J10H ,8/L-C Y TIda — 5
] Q| L+ 1+ SSINMDIHLYOOA
400d 40 104 O OL ONIQYODDY
/ ALV1dWAL L 5 “ (.8/€- 1) 400d 3HL 40 393
P > 3IHLNO QI¥ILNID
[ AVE A " -
v K 4o0a 40 30a3 S ey F10H.L ¥ T114a
A|—|—¢
oI o -
L —A >
d00d 40 40V4 OL 31V 1dINd1L 3dVL | /10
I ssansionls
400d

11V1dINIL NOILVHVYd3dd HO00d ADVAIHd/ADVSSYd





